
John Deere Upper Doffer Adjustment Housing and Sprockets Assembly
30-6

www.certipik.com                                           Certi-Pik, USA                                        Litho in USA 2023



Item Part OEMPart DescQty

John Deere Upper Doffer Adjustment Housing and Sprockets Assembly 30-6

NUT - 7/8 - HEX (9900-9965)14H85200852P1.1 1

PRO UPPER DOFFER ADJUSTMENT NUT - M24 (9970-7760)N27714677146P1.2 1

HOUSING - UPPER DOFFER ADJUSTMENT (9900-9965) (ILL.)N114205142052.1 1

PRO UPPER DOFFER ADJUSTMENT HOUSING (9970-7760)N275853758532.2 1

SHIM - HOUSING - REPLACES #N34164N27593175931P3 AR

ADJUSTER (9900-9965) (ILL.)N195284952844.1 1

PRO DOFFER ADJUSTER (9970-7760)N375743757434.2 1

SNAP RING (9900-7760)P4302643026P5 1

BEARING - UPPER DOFFER (9900-CP770) / PRO LOWER IDLERJD946709467P6 1

SNAP RING (9900-7760)N12315623156P7 1

SPACER - (9935-9965 IN-LINE ONLY)N195726957268.1 1

PRO UPPER DOFFER SPACER (9970-7760)N277150771508.2 1

SPROCKET - CHAIN SPROCKET (9910-9965 CONV. ONLY)N190918909189 1

LINK CHAIN - DOFFER DRIVE, 62 LINKS, 12-BAR (9900-9965)AN1131701317010.1 1

LINK CHAIN - DOFFER DRIVE, 75 LINKS, 16-BAR (9900-9910)AN1131711317110.2 1

GEAR - SPUR (9935-9965 IN-LINE ONLY) 19 TOOTHN1974569745611.1 1

PRO UPPER DOFFER SPUR GEAR - 20 TOOTH (9970-7760)N2739547395411.2 NA

SHAFT - HEX DOFFER DRIVE (9900-9965) (ILL.)AN1901699016912.1 1

PRO HEX DOFFER DRIVE (9970-7760)AN2734847348412.2 1

PIN - 1/4 X 1-1/2 SPRING PIN (9900-9965)34H31600316P13.1 1

PIN - 1/4 X 1-3/4 SPRING PIN (PRO)34H38500385P13.2 1

BOLT  - M10 X 30 - SMOOTH HEX FLANGE19M778607786P14 1

NUT - M10 - SERR HEX FLANGEE6352663526P15 1

FLANGE NUT: M1614M729107291P16 1

WASHER - 21/32" X 1-9/16" X 0.180"24H137301373P17 1

SPUR GEAR - 25 TOOTH - DOFFER IDLER (F&R)N2739557395518 1

BEARING PRO - BOTTOM DRUM BEARING / DOFFER IDLERAN27278772787P19 1

SPACER - HEX - DOFFER IDLER - REPACES #N278451 (F&R)KK203812038120 1

BOLT - M16 X 70 - DOFFER IDLER03M721107211P21 1

BOLT - M10 X 20 ROUND HEAD - SQR NECK03M719007190P22 1

BUSHING - TOP HEX - FINE DOFFER ADJUSTMENT (F&R)KK147611476123 1

SPACER - HEAVY WALL TUBE - FINE DOFFER ADJUSTMENT (F&R)KK204592045924 1

SPRING - FINE DOFFER ADJUSTMENT (F&R)A3106R03106P25 1

SPRING PIN - 5/32" X 15/16"34H26500265P26 1

HEX SHAFT - HEAT TREATED - FINE DOFFER ADJUSTMENT (F&R)KK611976119727 1

HUB - TOP CLUTCH - HEX BORE - FINE DOFFER ADJUSTMENT - HEAT TREATED 

STEEL FOR INCREASED DURRABILITY : NOT POWDERED METAL (F&R)

KK135181351828 1

RETAINER - BOTTOM CLUTCH - ROUND BORE - FINE DOFFER ADJUSTMENT -

LONGER HEX FOR FULL PLATE ENGAGMENT - HEAT TREATED STEEL FOR 

INCREASED DURRABILITY: NOT POWDERED METAL (F&R)

KK203912039129 1

PLATE - FRONT - FINE DOFFER ADJUSTMENTKK203462034630 1

PLATE - REAR - FINE DOFFER ADJUSTMENTKK203472034731 1

WASHER - 25 X 36 X 2mm24M737507375P32 1

BUSHING - STRONGER STEEL HEX SPACER - FINE DOFFER ADJUSTMENT (F&R)KK495134951333 1

SPUR GEAR - 25 TOOTH - DOFFER IDLER - STEEL FOR INCREASED DURRABILITY : 

NOT POWDERED METAL (F&R)

KK204502045034 1

SCREW - M10 X 50 - FINE DOFFER ADJUSTMENT19M780607806P35 1

NUT - PRO - M30 NYLON LOCK NUTN27503875038P36 1

www.certipik.com                                           Certi-Pik, USA                                        Litho in USA 2023



John Deere Upper Doffer Adjustment Housing and Sprockets Assembly
30-6

www.certipik.com                                           Certi-Pik, USA                                        Litho in USA 2023



Item Part OEMPart DescQty

John Deere Upper Doffer Adjustment Housing and Sprockets Assembly 30-6

WASHER - 1-3/16" X 2.25" X 0.120"24H126201262P37 1

SPUR GEAR - 20 TOOTH - DOFFER DRIVE - FINE DOFFER ADJUSTMENT (F&R)KK121071210738 1

SNAP RING - FINE DOFFER ADJUSTMENT (F&R)N7192171921P39 1

BEARING - ADJUSTER - FINE DOFFER AJUSTMENT (F&R)JD852408524P40 1

ADJUSTER BEARING HOUSING - FINE DOFFER AJUSTMENT - REPLACES #KK14726 & 

KK25634 & KK63795 (F&R)

KK810968109641 1

SPUR GEAR - 53 TOOTH - FINE DOFFER ADJUSTMENT - STEEL FOR INCREASED 

DURRABILITY : NOT POWDERED METAL (F&R)

KK174911749142 1

SCREW - M6 X 1619M855308553P43 3

DRIVE SHAFT - FINE DOFFER ADJUSTMENT - REPLACES #AKK13695 (F&R)AKK355133551344 1

SHAFT KEY - 1/4" X 2-1/8" - HARDENED26H10300103P45 1

SPRING PIN - 3/8" X 7/8"34H34700347P46 3

ASSEMBLED DRIVE SHAFT - FINE DOFFER ADJUSTMENT, READY TO INSTALL - 

INCLUDES ITEMS #36-46

<-----OEM35513ASSY47

HOUSING - FINE DOFFER ADJUSTMENT - (F&R)KK452004520048 1

BOLT  - M10 X 20 - SERR HEX FLANGE - GD 8 - NOT THREAD FORMINGN27562075620P49 AR

BEARING CAP - FINE DOFFER ADJUSMENT HOUSING PLUGA4721747217P50 1

www.certipik.com                                           Certi-Pik, USA                                        Litho in USA 2023


